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SHOW WORK ON ALL PROBLEMS!
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Write a formula for the nth term of each infinite sequence. Do not use a recursion formula.
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Charles’ parents deposited $1,000 on his 1% birthday. They deposited money in this account each year on his
birthday increasing the amount by $200 each year.

5. Write in summation notation the formula depicting the amount Charles’ parents deposited from his 1%
birthday to his 18" birthday.
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6. What is the total amount of money Charles” parents deposited?
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7. Solve using Cramer’s Rule. 8. Solve using Gaussian Elimination.
2x-y+z=9 2 -1 1 9 2x + 5y =2
xtyt+tz=4 L1y Xx—3y=-2

3x-2y-z=-13 -3 -2 4 —/3

an ; :% y
See V\«QY"F 'Pdﬂéfs -ﬁar 50/@71'10145 "7Lo 1, an g

I

'(n«r)[

i1 O o - ‘,- A ~ dpesint have ;P::'.;{?l'j"‘
L [(9(90 + 200 (n __1)]; l'fé/éoo C‘)Ie/ 5;’ }/cdv’ (’LL/(-J-/(Z or‘c(é’t.dllll hae Z{.“C TT‘/{D

(3)
#2260 & QALOO + 2600 -+ 2EEO + B3OOO -+ 32 O F AUEO -+



el

21+ 2) 114 2)-3(1=1)
4-3+6 =5

’7.> a -t 19 D = ,a’?',li
-3 <2 -

D, = [ 4 e - ’/-///
LT q/vifl/”‘/fz—//* Sy
q(,,+2>,4<,”>_,3(_,,,)
g 124+ 26 =
2 9 | / / /
= ) = 5 —]
D5 }j 1 '/// 3 ’ v
4('4+/3>,/(-6/+/3)~367'4)
19 —4-15= 1
= 137 -1 9
> /13111 -73)' @/-5-73} "'/—J—w/* 3//4/

ﬁ-(’/?—t QB — | (IB% 18>«3(’L’/-—4/>
~lo -~ 3|+ 37= — %

i







